YTt A W U 2 3W U nenfiE weH IR E

SRR (AIR) ® fuadt o ot o oy, i o il wamwr =) weh Preadrr womeft frepfira
e 1 uw fua-fim warel ot wergdta s o1ét 39 d9 § orud qieR! Wi g, e ofR weRSH
STl el g e § | e warER, g, simed ol sre sk 23 wrsdl oiv 176 dferl | wer e €,
9 Y e g SHE % T3 Soaa @ F 1 e awnE §)

AIR 1 BRI ‘fafgsr set’ 3 0§ 3 ofaR, 1957 1 I& gl ol 1 991y, 1967 § 39 W
Fergro wafia 3 s @ €1 werm e diitg wrder 1954 § sefr gon S9% A 9% U wiffe SrdEy
T T | STERTTETO e WEr/ qeeRTe 1974 § wnfud gu 1 g diudE, SRafaiin, are siw s
vty % ford fedt o &1 geeda AIR @ 1 o1, 1976 st 1ot gl | rifass gal o e g g veed
9R 1977 § AIR % Tafs 2w & g =7d $& Jan 6t 3 5Hed, 1990 @t AIR ¥ forettn Saw § wily fipen
AT gresifre Sen wHRer gE N e R e iy R e yenfid e on ) we § 9w 3 i an e
wer Tt &1 sy o R o oSl § 50 kw swztadier & ey & wafe R swar 3, s yefl s
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(1) 1 der 1977
(2) 2 et 1976
(3) 1 e 1976
(&) 2 e 1977

Options :

212807129457. 1
212807129458. 2
212807129459. 3
212807129460. 4

Mathematics
Group Number : 24
Group Id : 212807748
Group Maximum Duration : 60
Group Minimum Duration : 60
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Common

Section Id : 212807880
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 15
Number of Questions to be attempted : 15 COI Ieged unila:
India’s largest Student Review Platform



Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2128072539
Yes
null

Question Number : 886 Question Id : 21280732366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1
0 1 -1

The matrix | —=1 O 1 |is:

1 -1 0O

(A) Symmetric matrix

(B) Square matrix

(C) Diagonal matrix

(D) Skew-symmetric matrix
(E) Scalar mairix

Choose the correct answer from the options given below :

(1) (B), (D) Only

(2) (A) (B) Only
(3) (D), (E) Only
(4) (O), (D) Only
Options :

212807129461. 1
212807129462. 2
212807129463. 3
212807129464. 4

Question Number : 886 Question Id : 21280732366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

% collegedunias
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(D) Toawy wufad sweyg
(F) ey sysyg

H fow wru Fredt o 8 W@ SO = Sl

(1) *&d (B), (D)
(2) 9 (A), (B)
(3) WIA (D), (E)
(4) w=E (C), (D)

Options :

212807129461. 1
212807129462. 2
212807129463. 3
212807129464. 4

Question Number : 887 Question Id : 21280732367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

2x 3 [16 3

If 5 x= 5 2 the value of x is :

(1) x==x16
(2) x==4
(3) x==x2
(4) +3

Options :

212807129465.
212807129466.
212807129467.
212807129468.

AW N~

Question Number : 887 Question Id : 21280732367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

-
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2¢x 3 |16 3
vq’f&S x_5 z,quﬁ%:

(1) x==+16
(2) x==4
(3) x==+2
(&) x==3
Options :
212807129465. 1
212807129466. 2
212807129467. 3
212807129468. 4

Question Number : 888 Question Id : 21280732368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

3 1
If A= then A2-5A=

-1 2
(1) 71
2) =71
(3) 2I
(4) -3I
Options :

212807129469. 1
212807129470. 2
212807129471. 3
212807129472. 4

Question Number : 888 Question Id : 21280732368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

3 1
gfg A= qdH A2—5A =

-1 2
(1 71
2) -71
(3) 2I
(4) -3I
Options :

212807129469. 1
212807129470. 2
212807129471. 3
212807129472. 4

% collegedunias
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Question Number : 889 Question Id : 21280732369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI
flAl=3and A7 =| o, | then ad
I =3and A" = en adj A is
-5/ 2
% 7
9 3
M |5 5
-9 3
@ -5 2
9 -3
B -5 2
-9 3
@ |5 -

Options :

212807129473. 1
212807129474. 2
212807129475. 3
212807129476. 4

Question Number : 889 Question Id : 21280732369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
A |Al=3 et Al 2| o | awadjad
=3 A= a9 adj :
% %
(9 3
O |5 2
-9 3
@ -5 2
(9 -3
@) -5 2
-9 3
@ |5 -

Options :

212807129473, 1 _ collegeduniag
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212807129474. 2
212807129475. 3
212807129476. 4

Question Number : 890 Question Id : 21280732370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1
3x—8 ifx<5

If the function f(x)= K ifx>5 is continuous, then the value of K is:

2
o 5
7
2 3
3
G =
4
4) 3
Options :

212807129477. 1
212807129478. 2
212807129479. 3
212807129480. 4

Question Number : 890 Question Id : 21280732370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQl1

3x—8 uRx<5
aRwH )= gy FEE KR AL

2
S -
7
2 3
3
G =
4
7

(4)

Options :

212807129477. 1

212807129478. 2

212807129479. 3 - collegedunias
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212807129480. 4

Question Number : 891 Question Id : 21280732371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

1. ™
Equation of normal to the curve Yy =x + Estx at X== is:

(1) x+w=0
(2) x=2mw
(3) 2x+%w=0
(4) x—w=0
Options :

212807129481. 1
212807129482. 2
212807129483. 3
212807129484. 4

Question Number : 891 Question Id : 21280732371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI

i

2
(1) x+w=0
(2) x=2mw
(3) 2x+=w=0
(4) x—w=0
Options :

212807129481. 1
212807129482. 2
212807129483. 3
212807129484. 4

1.
Wk Y=+ sin2x & fvrerea 1w §

Question Number : 892 Question Id : 21280732372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

% collegedunias

India’s largest Student Review Platform



3
A particle is moving along the curve ¥ = 114 +3. The point on the curve at which y-coordinate is

changing thrice as fast as the x coordinate, is :

m (1~%)

2 ©3)

® (L%%)

@ (-11%)

Options :

212807129485. 1
212807129486. 2
212807129487. 3
212807129488. 4

Question Number : 892 Question Id : 21280732372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Th H0 I y=%x4+3%aiﬁm%w%1aﬁﬁgﬁwt-ﬁé‘mf$xﬁi‘mﬁmﬁﬁqﬂmﬁ

yfaffa s, 2

 (17%)

2 (63

@ (1.7%)
@ (-1

Options :

212807129485. 1
212807129486. 2
212807129487. 3
212807129488. 4

Question Number : 893 Question Id : 21280732373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI

% collegedunias
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4
The value of “x —1fdx is:
1

(1)
2
3)

(4)

Options :

212807129489. 1
212807129490. 2
212807129491. 3
212807129492. 4

MNiw RNl N N

Question Number : 893 Question Id : 21280732373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ1

4
ﬂx—1|dx FIHAE
1

1)
(2)
3)

(4)

Options :

212807129489. 1
212807129490. 2
212807129491. 3
212807129492. 4

Niw N NN N

Question Number : 894 Question Id : 21280732374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

collegedunias
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The area of the region bounded by the curve 2y=3x— 6, y-axis and the line y=2 and y= -3 is :
(1) 16 sq. units
(2) 25 sq. units

(3) 2% sq. units

(4) l% sg. units
Options :
212807129493. 1
212807129494. 2
212807129495. 3
212807129496. 4

Question Number : 894 Question Id : 21280732374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

o 2y =3x—6, y-31% 3 T y=28y= -39 9y v = Qﬁ"ﬁﬁ%
(1) 16t g
(2) 257 3

(3) 254 =t e
(4) 164 =i g

Options :

212807129493. 1
212807129494. 2
212807129495. 3
212807129496. 4

Question Number : 895 Question Id : 21280732375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI
dzy * d3y
The sum of the order and degree of the differential equation 2x° —ig | t—g+y=0is:
dx dx
(1) 4
2 5
3) 6
(4) not defined
Options :

212807129497. 1
212807129498. 2

212807129499. 3 .
% collegedunias
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212807129500. 4

Question Number : 895 Question Id : 21280732375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

2\t 3
mwmmzxi”% +§x~§+y=0ﬁa%ﬁsi’ﬂmaﬂthﬂ%:

(1 4
2 5
3) 6
(4) afonfra &

Options :

212807129497. 1
212807129498. 2
212807129499. 3
212807129500. 4

Question Number : 896 Question Id : 21280732376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1
, , . , . dy 1+y .
The integrating factor of the differential equation I +y= is :
X
e
1 —
X
=
@ =
(3)  xe*
(4) &*

Options :

212807129501. 1
212807129502. 2
212807129503. 3
212807129504. 4

Question Number : 896 Question Id : 21280732376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

% collegedunias
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Wm%+y=h§—ymww%:
m <
@ =
(3)  xe*
8 &

Options :

212807129501. 1
212807129502. 2
212807129503. 3
212807129504. 4

Question Number : 897 Question Id : 21280732377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

A pair of dice is thrown 3 times. If getting a doublet is considered a success, then the probability of
two successes is

1
0 =
7
2 =
5
3 =
11
@4 =

Options :

212807129505. 1
212807129506. 2
212807129507. 3
212807129508. 4

Question Number : 897 Question Id : 21280732377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

% collegedunias
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1
L %
7
O
5
3 5
11
@ =

Options :

212807129505. 1
212807129506. 2
212807129507. 3
212807129508. 4

Question Number : 898 Question Id : 21280732378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
gzr);lprehension I/la(lflgl
Match List - T with List - II.
List - I List - II
(A) P(AnB) () P(A)+P(B)
(B) PANB) () P(A)+P(B)-2P(ANB)
(© P(AnB)u(AnB)] @) P(B)-P(AnB)
(D) P(AWB)+P(ANB) (IV) P(A)—-P(AnB)

Choose the correct answer from the options given below :
(1) (A)D), (B)-(D, (C-IV), (D)-(11I)
(2) (AL, B)-WI), ([O-1), (D)-IV)
(3)  (A)-(ID, (B)-(IV), (O)-(I), (D)-(T)
(4)  (A)-IV), (B)-(11), (C)-(III), (D)-(I)

212807129509. 1
212807129510. 2
212807129511. 3
212807129512. 4

Question Number : 898 Question Id : 21280732378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ1
Qcollegedumas
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i1 & FE-11 =61 figemra i
-1

(A) P(ANB) (D
(B) P(ANB) ()
(C) P[(Amﬁ)u(KmB)] (1)
(D) P(AUB) +P(ANB) (IV)

A9 feu e fawedi § 4 |8 s o 997 Hifs

(1 (A0, B)-1D, (©)-1V), (D)~
(2)  (A)-1), B)-1D), (-1, O)-(IV)
(3)  (A)(ID, (B)-(IV), ©)-(I), (D)-(T)
(4)  (A)1V), (B)-(), (C)-(IM), (D)}(D)

Options :

212807129509. 1
212807129510. 2
212807129511. 3
212807129512. 4

P(A) + P(B)
P(A) + P(B) —2P(ANB)

P(B) — P(ANB)
P(A) - P(ANB)

Question Number : 899 Question Id : 21280732379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

The value of objective function is maximum under linear constraints is

(1) at (0, 0)
{2) at the centre of feasible region
(3) at any point of feasible region

(4) at one of the corner points of the feasible region

Options :

212807129513. 1
212807129514. 2
212807129515. 3
212807129516. 4

Question Number : 899 Question Id : 21280732379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

.
Qcol legedunia
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rr =l & oigda SRya wer w1 sfrsag aF §

(1) ©0)W
2)  GEd T FE W
(3) gHwa &7 F e fag w

—

(4) gETE & F up ey g w

Options :

212807129513. 1
212807129514. 2
212807129515. 3
212807129516. 4

Question Number : 900 Question Id : 21280732380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

The feasible region of an LPP is shown in the figure below.

If z=3x+ 9y, then the minimum value of z occurs at :

(0, 20)
(15, 15)
(0, 10y
5, 5)
D ) <
(1) (0 10)
) (0, 20)
3 &3
(4) (15, 15)
Options :

212807129517. 1
212807129518. 2
212807129519. 3
212807129520. 4

Question Number : 900 Question Id : 21280732380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

-

collegedunias

India’s largest Student Review Platform



LPP &t g&ma &3 19 fax & gwden wn ¥
qfE z=3x + 9y, 9 2 N YTAG W ¥

(0, 20)
{15, 15)
{0, 10)
)
0 . ~
() (0, 10) W
(2) (0, 20)
3 G5 W
(4) (15, 15) W
Options :

212807129517. 1
212807129518. 2
212807129519. 3
212807129520. 4

Core Mathematics

Section Id : 212807881
Section Number : 2

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25

Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072540
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 901 Question Id : 21280732381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
If fx)=e* and g(x) =log x =Inx, then (gof)(x) is
(1) e
(2) =x
(3) e
(4) log.2x
Options :

212807129521. 1
212807129522. 2 .
212807129523, 3 % collegedunias
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212807129524. 4

Question Number : 901 Question Id : 21280732381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

afg fix)=e* 3l g(x)=log x=Inx, 9 (gof)(x) ¥

(1) e

(2) =

(3) ¥

(4) log.2x
Options :

212807129521. 1
212807129522. 2
212807129523.3
212807129524. 4

Question Number : 902 Question Id : 21280732382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The region R on the set A ={xeZ : 0=<x=12}, given by R={(a, b) : |a—b| is a multiple of 4} is :
(1) Reflexive but not Symmetric

(2) Reflexive but not Transitive

(3) Symmetric but not Transitive

(4) Equivalence relation

Options :

212807129525. 1
212807129526. 2
212807129527. 3
212807129528. 4

Question Number : 902 Question Id : 21280732382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

U= A={reZ : O=x=12} W HY R={(a, b) : [a—b| 4 T U 8}, ¥ :

TEged iy wefhe &

(1)
2) ¥R WY W T
3)

—

(3) wmft Wiy Hehms T
(4) goud Hay
Options :

212807129525. 1

% collegedunias
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212807129526. 2
212807129527. 3
212807129528. 4

Question Number : 903 Question Id : 21280732383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ2

The value of sin

1y =
@ 3
@ 5
@ 5

Options :

212807129529. 1
212807129530. 2
212807129531. 3
212807129532. 4

-1

cos| sin

B

Question Number : 903 Question Id : 21280732383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
sin~ 1| cos sin_1§ FUHE :
w
(1) 2
mw
2 3
w
B 35
w
4 7

Options :

212807129529. 1
212807129530. 2
212807129531. 3

% collegedunias

India’s largest Student Review Platform



212807129532. 4

Question Number : 904 Question Id : 21280732384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

41 41 _
If 2tan 15+tr:m 1§=tan 1x,thern.ralue of xis:

31
N 17
17
2 37
4
3 3
3
4) 7
Options :

212807129533. 1
212807129534. 2
212807129535. 3
212807129536. 4

Question Number : 904 Question Id : 21280732384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

1 1 _
7% 2tan 1E+tan 1?=tan Ly qaxsiaA 2.

31
1) =
17
@ 3
4
G 3
3
@ 5
Options :

212807129533. 1
212807129534. 2
212807129535. 3
212807129536. 4
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Question Number : 905 Question Id : 21280732385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

1 23 1 7 1

If 3 4|l2 5 = K 23 , then value of K is :

1y 12
2) -17
(3) 17
(4) -12
Options :

212807129537. 1
212807129538. 2
212807129539. 3
212807129540. 4

Question Number : 905 Question Id : 21280732385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

1 2|3 1 7 1

(1 12
2 -17
(3) 17
(4) -12
Options :

212807129537. 1
212807129538. 2
212807129539. 3
212807129540. 4

Question Number : 906 Question Id : 21280732386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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23

If A= _14 _22 2 and B=|4 5| and BA=(by), then by, +bs,=
2 1

n -2

2) -16

(3) 18

(4) -18

Options :

212807129541. 1
212807129542. 2
212807129543. 3
212807129544. 4

Question Number : 906 Question Id : 21280732386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
2 3

aka=| = 2 YlamB=|2 5| wiBa-= =

A=, , g|®nB= TH BA = (by), by +bgy=

21

n -2

(2) -16

(3) 18

(4 -18

Options :

212807129541. 1
212807129542. 2
212807129543. 3
212807129544. 4

Question Number : 907 Question Id : 21280732387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
1 3 5

If A=|1 0 3|, then|(adjA)| is:
010

(1) 2

(2 8

(3) 4

(4) 25

% collegedunias
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Options :

212807129545. 1
212807129546. 2
212807129547. 3
212807129548. 4

Question Number : 907 Question Id : 21280732387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
135

S A=|1 0 3|, 7 |(adja)|® :
010

1 2

(2) 8

(3) 4

(4) 25

Options :

212807129545. 1
212807129546. 2
212807129547. 3
212807129548. 4

Question Number : 908 Question Id : 21280732388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ2

T K 3

The valueof K, if |3 K -—-2|=33,is:

2 3 -1

0
1
2

Options :

212807129549. 1
212807129550. 2
212807129551. 3
212807129552. 4

Question Number : 908 Question Id : 21280732388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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1 K 3
#fe 3 K -2(=33, KFam g

2 3 -1
(1 -1
2 0
3 1
(49 2
Options :

212807129549. 1
212807129550. 2
212807129551. 3
212807129552. 4

Question Number : 909 Question Id : 21280732389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
13
The value of det{A2—2A), if A= 5 1|18
(1 >
(2 -3
(3) 25
4 -25
Options :

212807129553. 1
212807129554. 2
212807129555. 3
212807129556. 4

Question Number : 909 Question Id : 21280732389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
3
afe A= , det{A2—2A) F1HEA ¥ :
1 3
(2) -5
(3) 25
(4) -25
Options :

212807129553. 1
212807129554. 2

212807129555. 3 Collegeduniag
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212807129556. 4

Question Number : 910 Question Id : 21280732390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

x+4 2x 2x

If| 2x x+4 2x =?\(4—x}2,thenvalueof)\is:

2x 2y x+4

(1) A=4dx+5
(2) A=5x+4
(3) A=4-x
(4) A=x-4
Options :

212807129557. 1
212807129558. 2
212807129559. 3
212807129560. 4

Question Number : 910 Question Id : 21280732390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

r+4 2x 2x

iz | 2r  x+4  2x |=A4-x), GAAFIHE D

2x 2 x+4

(1) A=4x+5
(2) A=5x+4
(3) A=d-x
(4) A=x-4
Options :

212807129557. 1
212807129558. 2
212807129559. 3
212807129560. 4

Question Number : 911 Question Id : 21280732391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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A
For which value of X is the function, f{x}= (

(1) A=0

(2) a=1

(3) A=-1

(4) for no value of A
Options :

212807129561. 1
212807129562. 2
212807129563. 3
212807129564. 4

x2—2x) ifx=0

dx +1

ifx>0

continuous at x=0

?

Question Number : 911 Question Id : 21280732391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

A% g am & fog wem, f(x

(1) A=0

(2) A=1

(3) r=-1

(4) N % Tl v % oo =
Options :

212807129561. 1
212807129562. 2
212807129563. 3
212807129564. 4

dx +1

- ?\(xz -2x) A x =<0
x>0

x =09 GHqd ¢ |

Question Number : 912 Question Id : 21280732392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

d
The derivative _3’_’ if x =a(B — sind)

dx

(1) cos¥
) —coths
(3) cot?
(4) tan®)

, y=a(l +cosh) is :

-

collegedunias
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Options :

212807129565. 1
212807129566. 2
212807129567. 3
212807129568. 4

Question Number : 912 Question Id : 21280732392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

d
ufg x=a(® — sing), y=a(l + cosh), HTHAT Ey i

(1) cos¥)
(2) —cots
(3) cot?]
(4) tan®)

Options :

212807129565. 1
212807129566. 2
212807129567. 3
212807129568. 4

Question Number : 913 Question Id : 21280732393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
dy _ dy
If y=sin~lx and {1 —x?}—ZL —x ~L =K, then value of K is :
(1 2
n L
@ 3
3 0
(49 1

Options :

212807129569. 1
212807129570. 2
212807129571.3
212807129572. 4

Question Number : 913 Question Id : 21280732393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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sy =sin-1x of (1-22) 28 -

de
1 2
1
2 3
(3 0
4) 1

Options :

212807129569. 1
212807129570. 2
212807129571. 3
212807129572. 4

Key Value
Comprehension MCQ2
dy

¥ =K, d K =T ;
dx

Question Number : 914 Question Id : 21280732394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

T
The tangent to the curve x = cost{3 — 2cos?t), y=sint(3 —2sin?t) at t=—, makes with the

x-axis an angle :

(1) o
@ 5
@
@ 3
Optous

212807129573. 1
212807129574. 2
212807129575. 3
212807129576. 4

Question Number : 914 Question Id : 21280732394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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F x = cost(3 — 2cos2t), y =sint(3 — 2sin2t) F fery t=§ 9L oe YW -3 F Y wm Y

(1 o
@ 5
@ <
@ 3

Options :

212807129573. 1
212807129574. 2
212807129575. 3
212807129576. 4

Question Number : 915 Question Id : 21280732395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

The function f{x)=sinx +cosx, 0=x =27 is :

(1) strictly decreasing in [9; %J

=l

T
(2) strictly increasing in [Z ?)

S
(3) strictly decreasing in | —

St
(4) strictly increasing in [_4 w
Options :
212807129577. 1
212807129578. 2
212807129579. 3

212807129580. 4

Question Number : 915 Question Id : 21280732395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
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FE f{x) =sinx + cosx, D=x =27 ¥

(1) [U’EJ  Fordere grrart &

) [—E—ﬁg ¥ Friare oo &

(3) [?’2“_ H P gRemrt 3

(4) [%",2« H frier g

Options :

212807129577. 1
212807129578. 2
212807129579. 3
212807129580. 4

Question Number : 916 Question Id : 21280732396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The value of C in Rolle’s theorem for the function f{x) = e’sinx, x€[0, 7], is :

w
O
2 7
B 3

3
@ -

Options :

212807129581. 1
212807129582. 2
212807129583. 3
212807129584. 4

Question Number : 916 Question Id : 21280732396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

% collegedunias
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{F 71 H HEAT flx) = e’sin, xe[0, 7], F AU CH AA R

W 7
@ 5
@ 5
0 =

Options :

212807129581. 1
212807129582. 2
212807129583. 3
212807129584. 4

Question Number : 917 Question Id : 21280732397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
E
3
1
] dx =
= 1+ +/cotx
6
v
1 35
2
w
2 —_—
@ 3
™
4
m
4 —
(4 3
Options :

212807129585. 1
212807129586. 2
212807129587. 3
212807129588. 4

Question Number : 917 Question Id : 21280732397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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1y =
@ =
3 =
@ 3

Options :

212807129585. 1
212807129586. 2
212807129587. 3
212807129588. 4

Question Number : 918 Question Id : 21280732398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

If Iex(tanx +1}secxdx =e" f(x) +C, then f{x) is :

(A) e
(B) tanx
(C) secx

(D) secx tanx

Choose the correct answer from the options given below :

(1) (A) Only
(2) (B) Only
(3) (C) Only
(4) (D) Only
Options :

212807129589. 1
212807129590. 2
212807129591. 3
212807129592. 4

Question Number : 918 Question Id : 21280732398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

nia:

India’s largest Student Review Platform



RIS Iex(tanx+1)secxdx=exf(x)+C,?‘Taf(X)% :

(A) e
(B) tanx
(C) secx

(D) secx tanx

9 fou u Tasmedi & O |E ST 999 Hife

(1) & (A)
(2) & (B)
(3) &a@ (C)
(4) e (D)
Options :

212807129589. 1
212807129590. 2
212807129591. 3
212807129592. 4

Question Number : 919 Question Id : 21280732399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The ratio of areas under the curves y=sinx and y=sin2x, from x=0 fo x =§ is :

(1) 3:2
) 2:3

(3) +3:1
(4) 1:43

Options :

212807129593. 1
212807129594. 2
212807129595. 3
212807129596. 4

Question Number : 919 Question Id : 21280732399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

% collegedunias
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TH! y=sinx T y=sin2x % T W x=0F x=% ¥ o= S 1 S

(1) 3:2
2) 2:3

(3) +3:1
4) 1:43

Options :

212807129593. 1
212807129594. 2
212807129595. 3
212807129596. 4

Question Number : 920 Question Id : 21280732400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The area of the region bounded by the curve y2=4x, y-axis and the line y=2, is :

2
(1) 3 59 units
2) % squni
(2) 3 59 units
5 2
(3 5 8q. units

3 ,
(4) 7 S0 units

Options :

212807129597. 1
212807129598. 2
212807129599. 3
212807129600. 4

Question Number : 920 Question Id : 21280732400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

% collegedunias
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E"ﬁ?yz=4x,y~a)ds 3?1'{:1@13(:213@ &5 3hT Q’ﬂﬂ'ﬁ%

(1) %aﬁ?ﬂé
4

(2) ga‘f?ﬁﬁ
3

(3 = i

2
3

(4 - olE

4
Options :
212807129597. 1
212807129598. 2
212807129599. 3
212807129600. 4

Question Number : 921 Question Id : 21280732401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The number of solutions of the equation xydx — (x> —y?)dy =0 with y(2)=3 is :

(1) None

(2) One

(3) Two

(4) Infinite
Options :

212807129601. 1
212807129602. 2
212807129603. 3
212807129604. 4

Question Number : 921 Question Id : 21280732401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

y(2)=3 F ¥ FHH xydx — (x2 - P)dy=0 % Fell #1 den g :
g T T

)

(2) T
@ T

(4) orda &
Options :

212807129601. 1
212807129602. 2

-
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212807129603. 3
212807129604. 4

Question Number : 922 Question Id : 21280732402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Solution of a differential equation (1 +1?)dx=(tan~ly—x)dy is :
(1) yetan 'W=etn " Wian—ly+1)+C
(2) wyetan =elnTlytan—ly—1)+C
(3) xen lW=eln Wan—ly—1)+C
(4) xetn l¥=etn Wan—ly+1)+C
{where C is the constant of Integration)

Options :

212807129605. 1
212807129606. 2
212807129607. 3
212807129608. 4

Question Number : 922 Question Id : 21280732402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

HTFAT FHH (1 +y2)dx = (tan ~ ly —x)dy F § ¥

(1) yen W=en Wian—ly+1)+C
(2) yetn W=e@ntan 1y —1)+C
(3) xen l¥=eln Wtan—ly—1)+C
(4) xetn W=eln Wan—ly+1)+C
(7 C G5 3 ®)

Options :

212807129605. 1
212807129606. 2
212807129607. 3
212807129608. 4

Question Number : 923 Question Id : 21280732403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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_._}
A vector r isinclined at equal angles fo the three axes. If the magnitude of ? is 3,/3 units, then

_.}
the value of r is:

(1)

(2)

3)

(4)

Options :

~ Al A
3 i+ j+k
s M I
£2i+j+k
~ fas A
i+ j+k
I M I
3 i—j—k

212807129609. 1
212807129610. 2
212807129611. 3
212807129612. 4

Question Number : 923 Question Id : 21280732403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

R 1 i oralt T wEE Al g g 2 1Ak wlkw L w33 e, @ uRke ¢ owE

g

(1)

(2)

(3)

(4)

Options :

N A A

+3 i +j+k

212807129609. 1
212807129610. 2
212807129611. 3
212807129612. 4

Question Number : 924 Question Id : 21280732404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ulator : None
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which is frue from the following ?
(A) Any vector _: in space can be written as

2

(B) If 4 is perpendicular to b, |‘;+ > =|.;|2 +|_glz

) It |:|=2,|-g|=1 and Z-l_:u)=1, the value of (3;}_53).(2:4_7-};}) is1

(D) ;=5?_?_3£ and 1_3)=?+3?_5f€,ﬂ1e angle between :.1_1_3) and :—_b) is 60°

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) Only
(3) (Q) Only
(4) (D) Only
Options :

212807129613. 1
212807129614. 2
212807129615. 3
212807129616. 4

Question Number : 924 Question Id : 21280732404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

.
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Frefafan d § T M= 3?2

— AYA — M)A — MAA
r-t |t

¢ off wnfrs gfew 7, fra s v § i+l i+ kK

-—‘>|

o <8 vt i

-‘>|

(©) I[TE| -}‘ 13ff(a b 1, (33_5})) (2:_#7;)%%1%

(D) a=5i-7-3k M p=i+37-5k a+b M a-p F A AN6F
A fen o gt § 4 W@ SO E =T wifv

(1) e (A) 3h(B)

(2) % (B)

(3) ¥ (O

(4) wEd (D)

Options :

212807129613. 1
212807129614. 2
212807129615. 3
212807129616. 4

Question Number : 925 Question Id : 21280732405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

If the planes _:(2? - ;\?.;_ 3&) =( and —;()\T .;_5?_ i)=5 are perpendicular to each other, then

value of A2+ \is:

1 o
2 -2
3) -1
4 2
Options :

212807129617. 1
212807129618. 2
212807129619. 3
212807129620. 4

Question Number : 925 Question Id : 21280732405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

.
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ofe wet }".(2‘}‘_;\%32]:0 3 }"’.(h?+5’}_£)=5 UH-TE TS A A2 AT AT

(1 ©
2 -2
(3 -1
(4) 2
Options :

212807129617. 1
212807129618. 2
212807129619. 3
212807129620. 4

Question Number : 926 Question Id : 21280732406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
x—2 y-3 z—4 x—1 y—4 z-5
The lines = = an = = are coplanar if :
1 1 K K 2 1 P

(3) K=0or -3
(4) K=3or -3
Options :
212807129621. 1
212807129622. 2

212807129623. 3
212807129624. 4

Question Number : 926 Question Id : 21280732406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
e Xx—2 y—-3 z-4 x—1 _y—-4 z-5
vy o2 =Y 2 gy achr & e
1 1 -K K 2 1 R gt

(1) K=0WK=-1
(2) K=17%-1
(3) K=07M -3
(4) K=34 -3

Options :

212807129621. 1
212807129622. 2
212807129623. 3
212807129624. 4
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Question Number : 927 Question Id : 21280732407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

3
Corners points of the feasible region for an LPP are (1, 1) (2, 0) (3, 1) [—2‘;4J, and (0, 5). Let

3
z=px +4y, p>0 be the objective function. If maximum of z occurs at [-2-; 4) and (3, 1), then the

value of pis:

1 2
(2) 4
(3) 6
4 8
Options :

212807129625. 1
212807129626. 2
212807129627. 3
212807129628. 4

Question Number : 927 Question Id : 21280732407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

s LPP % forg geinma e S g (L D (2,00 3, 1) 8,4J wd (0,5) % | 9 2= px +4y, p>0 R

T &1 Al [%AJ G Wz FyEm R, M pWIAA T

n 2
(2) 4
(3 6
(4) 8
Options :

212807129625. 1
212807129626. 2

212807129627. 3
212807129628. 4

Question Number : 928 Question Id : 21280732408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Objective function z =30x — 30y is subject to which combination of constraints, with feasible solution

shown in the figure.

AY
(0, 301

\ “(15 20)
(0, 20) :
\
\30, 0) .

x’ (15, 0) x
y
(A) xz20,y=0, x=15
(B) v=20, x+y=30

(C) x+y=30, x+y=15, 2x—y=<5

(D) 2x+y=30, x+y=<15, x=15

(E) 3x+y=30, x+3y=15, y=20

Choose the correct answer from the options given below :

(1) (A), (B) and () Only
(2) (A)and (B) Only
(3) (A) and (D) Only
(4) (A) and (E) Only

Options :

212807129629. 1
212807129630. 2
212807129631. 3
212807129632. 4

Question Number : 928 Question Id : 21280732408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Ay goid ) Fa ¥ sEr e sreedl ddem % srarty SRew W 2= 30x — 30y 1 HT 7 |

AY
(0, 301

\ “(15 20)
(0, 20) :
N
\30, 0)

x’ (15,0) x
y
(A) x=0,y=0, x=15

(B) v=20, x+y=30

(C) x+y=30, x+y=<15, 2x—y=>5

(D) 2x+y=30, x+y=15, x=15

(E) 3x+y=30, x+3y=15, y=20

iy Tou e Taspedi H 9 Wl SO 1 oA it
(1) 9 (A), (B) 3 (C)

(2) %9 (A) 3 (B)

(3) W (A) 3 (D)

(4) 9 (A) 3R (E)

Options :

212807129629. 1
212807129630. 2
212807129631. 3
212807129632. 4

Question Number : 929 Question Id : 21280732409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

.
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1 1

Anita and Bikram are two students. Their chances of solving a problem correctly are 3 and "

1
respectively. If their probability of making a common error is 57 and they both obtain same

20

answer then the probability that their answer is correct, is :

1
O Y
n L
@

13
) g
o
@ 13

Options :

212807129633. 1
212807129634. 2
212807129635. 3
212807129636. 4

Question Number : 929 Question Id : 21280732409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

st o Forgrw & Faremefi €1 99% 9RO A W B9 SR A G HE % aih%%]!rﬁ:mmaﬁ.

HE ) yiPrwa %%aﬂ?éﬁwmmmﬁﬁrmm#ﬁaﬁﬁm%;

1
O Y
1
@
13
3 130
10
4 13

Options :

212807129633. 1
212807129634. 2
212807129635. 3
212807129636. 4

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 co ege

India’s largest Student Review Platform

Question Number : 930 Question Id : 21280732410 Question Type : MCQ Option Shuffling : No Is Question Mandatory Qulato“: None d un i a:



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

In a box containing 100 bulbs, 10 are defective. The probability that out of a sample of 5 bulbs

none is defective, is :

MW 1w
@ 3
o ()

4 1

Options :

212807129637. 1
212807129638. 2
212807129639. 3
212807129640. 4

Question Number : 930 Question Id : 21280732410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

weh afay ¥ 100 sa § el 10 gfegaw ¥ 15 avw & g7 § § Tl oft o9 & Ffegw 790 A winea 7

O TY
@ (3)

o ()

4 3

Options :

212807129637 1
212807129638. 2
212807129639. 3
212807129640. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
2128072541
No

null
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Question Number : 931 Question Id : 21280732411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
. —112 14 163 .
The value of sin "— + cos "= + tan  — is:
e value o 13 5 1 5
T
W 3
2 =
1
(3 3
T
4 7

Options :

212807129641. 1
212807129642 2
212807129643. 3
212807129644. 4

Question Number : 931 Question Id : 21280732411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Compl

112 1 4 —1 63

sin — +cos —+an  — HHAY:
13 5 16 8
m

(1) 5

(2) =
T

@ 3
T

4 7

Options :

212807129641. 1
212807129642. 2
212807129643. 3
212807129644. 4

Question Number : 932 Question Id : 21280732412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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X
vxr + /4 —x

4
IfI=j Vx dx, then 8l is:
0

(1) 8
(2) ¢
(3) 16
(4) 4
Options :

212807129645. 1
212807129646. 2
212807129647. 3
212807129648. 4

Question Number : 932 Question Id : 21280732412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Compl
4

afe = I 4wk
! Jr o+ 4 —x

(1 8

(2) 6

3) 16

(4 4

Options :

212807129645. 1
212807129646. 2
212807129647. 3
212807129648. 4

Question Number : 933 Question Id : 21280732413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl
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The area of the region {(x, y) : x2+1? = 2ax, 112

T 2y o
(H) [Z 3 a  sq. units
2
(2) (g + 3 a” sq. units
4
(3) (g + 3 a” sq. units
T 4y o
(4) ("3" - 75‘] A" sq. units

Options :

212807129649. 1
212807129650. 2
212807129651. 3
212807129652. 4

W
&
ke
W
&
=t
W
=)
)
v
&
=

Question Number : 933 Question Id : 21280732413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

@ (T+3)a e
o (34w
Options :

212807129649. 1
212807129650. 2
212807129651. 3
212807129652. 4

ax,x?O,yBO]a>0,@3%T@ﬁW%:

Question Number : 934 Question Id : 21280732414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Mi
Correct Marks : 5 Wrong Marks : 1

nimum Instruction Time : 0

Question Key Details :
Key Value
Comprehension Compl
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The coordinates of the foot of the perpendicular drawn from origin to the plane 2x -3y +4z—-6=0

15

1&25@
(1) 29" 297 29

12 18 24
@ (-2

29" 29’ 79]

o (222

29° 297 29
y (2182
4 29° 297 29
Options :

212807129653. 1
212807129654. 2
212807129655. 3
212807129656. 4

Question Number : 934 Question Id : 21280732414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl

efag § WA 2x — 3y +4z - 6=0 R WA T o F g % Fdenw §

IGEE@
1 29" 297 29

12 18 24
o (212

297 29 29
S[EE@
(3) 29° 297 29
y (2 52
(4 29° 29" 29

Options :

212807129653. 1
212807129654. 2
212807129655. 3
212807129656. 4

J

Question Number : 935 Question Id : 21280732415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

-
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The mean of the Binomial distribution 3[4, %
n 2
M 3
2
@ 3
8
@ 3
1
@ 3
Options :

212807129657. 1
212807129658. 2
212807129659. 3
212807129660. 4

]is:

Question Number : 935 Question Id : 21280732415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Teag |29 3[4, %J AT :

4
S
2
@ 3
8
G 3
1
4 3
Options :

212807129657. 1
212807129658. 2
212807129659. 3
212807129660. 4

Applied Mathematics
Section Id : 212807882
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125

Enable Mark as Answered Mark for Review and Clear Response :

Yes
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Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

0

1
2128072542
Yes

null

Question Number : 936 Question Id : 21280732416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

If ﬂ.{.ﬂ:w,then
x-y x+y 3

(1) =2

(2) =1

(3) =4

X
y

(4) Not possible to find out

Options :

212807129661. 1
212807129662. 2
212807129663. 3
212807129664. 4

Question Number : 936 Question Id : 21280732416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Ay XXV 27V 10
x-y x+y 3

() =2

2 =1

(3) =4

(4) TG HE WS T

Options :

212807129661. 1
212807129662. 2
212807129663. 3
212807129664. 4

w R

Question Number : 937 Question Id : 21280732417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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{6 : 30+ 19 : 50), in 24 hours clock is :

(1) 2:20
(2) 1:80
(3) 14:20
(4) 13:80
Options :

212807129665. 1
212807129666. 2
212807129667. 3
212807129668. 4

Question Number : 937 Question Id : 21280732417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
2458 H (6:30+19:50) ¥
(1) 2:20
(2) 1:80
(3) 14:20
(4) 13:80
Options :

212807129665. 1
212807129666. 2
212807129667. 3
212807129668. 4

Question Number : 938 Question Id : 21280732418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A shopkeeper purchases 40 kg of rice at the rate of ¥ 35 per kg and 50 kg of rice at the rate of ¥ 40
per kg. If he sells the mixture to make a profit of 20%, the corresponding selling price for this
transaction is :

(1) ¥45.33/kg
(2) ¢ 47.67/kg
(3) ¥3539/kg
(4) ¥3730/kg

Options :

212807129669. 1
212807129670. 2
212807129671. 3
212807129672. 4

Question Number : 938 Question Id : 21280732418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details : - COI Ieged un i ds
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Key

'Value

Comprehension

MCQ3

e GERER 40 TR arae € 35 Wi frell oY 20 & sitt 50 TR wree 7 40 v Fen @ @@ wlea B

of &g 7 fagw $120% oy W agm & 3w 9 w9 e gen £

(1) ¥ 45.33/fsm.
(2) ¥ 47.67/T%mm.
(3) ¥ 35.39/f%uL
(4) ¥ 3730/

Options :

212807129669. 1
212807129670. 2
212807129671. 3
212807129672. 4

Question Number : 939 Question Id : 21280732419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A boat goes upstream at % km/hr and downstream at % km/hr. The speed of boat in still water

o (552
o (552
o (5
o (22

212807129673. 1
212807129674. 2
212807129675. 3
212807129676. 4

Question Number : 939 Question Id : 21280732419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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e e et 8 2 et st e 2 e/ ST &1 9 et e o e P

(1) [b = | fard

(2) [b;a et /e,

(3) [a;b faedl. /e,

(4)

Options :

212807129673. 1
212807129674. 2
212807129675. 3
212807129676. 4

[a+b

)

Question Number : 940 Question Id : 21280732420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

Three pipes A, B and C can fill an empty tank together in 8 hours. After working at it together for
2 hours B is closed and A and C can fill the remaining part in 9 hours. Pipe B can fill the empty
tank in :

(1) 12 hours

(2) 16 hours

(3) 20 hours

(4) 24 hours

Options :

212807129677. 1
212807129678. 2
212807129679. 3
212807129680. 4

Question Number : 940 Question Id : 21280732420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

% collegedunias

India’s largest Student Review Platform




T UEY A, B 3R C U @relt 3% H TS giE 8 90 H 9T R § 1 U |y 2 9 HE i & Og B 9
¢ fear e i A wd C $w woT R 9 goE H e W €1 I9Y B wiel 3%y wHa R

(1) 129§
(2) 169 d
(3) 209 H
(4) 24902 H

Options :

212807129677. 1
212807129678. 2
212807129679. 3
212807129680. 4

Question Number : 941 Question Id : 21280732421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
2—-x 4+x
If e 210 then :
@ x=-2
5
5
xE——
(2 122
@ =%
5
5
1Is——
(®) 122
Options :

212807129681. 1
212807129682. 2
212807129683. 3
212807129684. 4

Question Number : 941 Question Id : 21280732421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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2—x 4+x

- 310?[3:1;
Ifg 1 -
@ x=-2
5
5
=2—_
@ ** 71
@ =2
5
5
5—_
@ *=-70
Options :

212807129681. 1
212807129682. 2
212807129683. 3
212807129684. 4

Question Number : 942 Question Id : 21280732422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

If A and B are symmetric matrices, then which statements are correct ?

(A) (A-B)y=B'-A

(B) (AB+BA) is symmetric matrix

(C) (AB)=BA
(D) A'B'=BA’

(E) (AB-—BA) is skew symmetric matrix
Choose the correct answer from the options given below :

(1) (A) (©) and (E) Only
(2)  (B), (D) and (E) Only
(3) (B), (C) and (E) Only
(4) (A), (B) and (E) Only
;) 122?)2812.9685. 1
212807129686 2

212807129687. 3
212807129688. 4

Question Number : 942 Question Id : 21280732422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-

collegedunias

India’s largest Student Review Platform



Ifg A 3 B iy sieyg 8, a9 R Ty wEl ¥ 2
(A) (A-B)=B'-A

(B) (AB+BA) wafig sweqy &

(C) (AB)'=BA

(D) AB'=BA

(E) (AB-BA) forww gnfiyq sweg &

19 few o fawedi O 4 @& g 1 A wifs
(1) % (A), (C) 3R (E)

(2) e (B), (D) ¥ (E)

(3) % (B), (C) 3R (E)

(4) ¥ (A), (B) 3 (E)

Options :

212807129685. 1
212807129686. 2
212807129687. 3
212807129688. 4

Question Number : 943 Question Id : 21280732423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Match List - I with List - 1L
List - 1 List - 11
5 0 0
(A) Null matrix m |9°°0
00 5
0 -5 -3
(B) Scalar matrix m (> 9 ~2
3 2 0
(1 7 2
(C) Skew-symmetric matrix (IIT) 753
2 3 6
(D) Symmetric matrix (IV) both symmetric and skew-symmetric

Choose the correct answer from the options given below :

(1) (A)-IV), (B0, (O)-(), (D)D)

(2)  (AD, (B-(ID), (O)-(ID), (D)-(IV)

(3) (A, B)-(IID), (O)-(I), (D)-(IV)
) ) (D, (D)-

4)  (A)IID, (B)-(IT), (C)( I :
(3 (AT, (B)-; | ™ Qcollegedumaé

r



Options :

212807129689. 1
212807129690. 2
212807129691. 3
212807129692. 4

Question Number : 943 Question Id : 21280732423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

-1 4 FE-11 47 figerr swifom

Tit-1

(A) H TR

(B) ey HIoyE

(C©) Tawn—wwitm seyg

(D) wHfha sweyg

500
0 50
I

0 005
0 -5 -3
5 0 =2
I

() 3 2 0
1 7 2

(m 7 5 3
2 3 6

(1v) aofia i frog <

9 few o faaedi H @ 9 39 9 999 Fifs .
(1) (A)IV), (B)-(D), (O)«(1D), (D)~(11T)

(2) (A, (B)-(II), (O)-(II),

) )» (D)-
(3) (A0, B)-(ID), (C}(1), (D)
) ) (D)-

(4) (A)-(IID), (B)-(11), (O-{I),
Options :
212807129689. 1
212807129690. 2
212807129691. 3
212807129692. 4

(V)
)
(1)

Question Number : 944 Question Id : 21280732424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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A doll making small-scale unit calculates the variable cost of making x number of dolls per day as
three times the square of x. The fixed cost of packaging x dolls is ¥ 2800. The marginal cost of
producing 120 dolls :

(1) T7n
(2) %720
(3) ¥ 2872
(4) 3520
Options :

212807129693. 1
212807129694. 2
212807129695. 3
212807129696. 4

Question Number : 944 Question Id : 21280732424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

wh fen A gl ey s ) e 2 fe il o den ) fen W A g den x ¥ al W
o 14l x feen = Wby = e for oiwm #2800 # 4 120 TRl ¥ Seure #Y Wi wrTa

(1) T7n2
(2) ¥720
(3) ¥ 2872
(4) 73520

Options :

212807129693. 1
212807129694. 2
212807129695. 3
212807129696. 4

Question Number : 945 Question Id : 21280732425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

The demand function for a certain product is such that P(x)=3x2 — x + 200, where x is the number
of units of the product demanded and P(x) is the price per unit.

Marginal revenue when 10 units are sold is :

(1) 59
(2) 780
(3) 1080
(4) 4900
Options :

212807129697. 1
212807129698. 2

212807129699. 3
212807129700. 4 Qcol Iegedunias
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Question Number : 945 Question Id : 21280732425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

weh Tafirer gears % foru i Wer 39 YR &, Plx) =322 — x + 200 W& x IUrE F °hy #) sl w1 gen

i P(x) yeu wft 3otd B

H 10 gl o< ol € A dharg wera

(1) 59
(2) 780
(3) 1080
(4) 4900
Options :

212807129697. 1
212807129698. 2
212807129699. 3
212807129700. 4

Question Number : 946 Question Id : 21280732426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Maximum slope of the curve y=—2x%+6x%+5x—20 is :

(1) 9
(2) 10
(3) 11
(4) 12
Options :

212807129701. 1
212807129702. 2
212807129703. 3
212807129704. 4

Question Number : 946 Question Id : 21280732426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

TH y = — 205 + 62 + 5x — 20 HI ifperdy yevr §

(1) 9
(2) 10
(3) 11
(4) 12
Options :
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212807129701. 1
212807129702. 2
212807129703. 3
212807129704. 4

Question Number : 947 Question Id : 21280732427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ3

An open box with square base is to be made out of a given quantity of cardboard of area p?

sq. units. The maximum volume of the box is :

(1)

(2)

(3)

(4)

Options :

PS
? ctubic uhits

K

cubic units

5

e

cubic units

g

p3
EJ—g cttbic units

212807129705. 1
212807129706. 2
212807129707. 3
212807129708. 4

Question Number : 947 Question Id : 21280732427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

FHfRR STUR TR GO A T p? W THE G IR Y FIEH TN SN F | R A A §

(1)

(2)

(3)

(4)

Options :

%W%ﬁ
P
oy T TR
p
o5 IR

P
6J§H=rs'aar§
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212807129705. 1
212807129706. 2
212807129707. 3
212807129708. 4

Question Number : 948 Question Id : 21280732428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Which of the following can be the probability distribution of a random variable ?

x| 1]2]3
M Tepgl-05] 05 [ o1

x|t 2]3]z2]s
@) Tppg| 0.1 [0a [oos|-02] 02

x| 1]2]5]s
®) Tppg|02]03]02]02

x| o] 1]2
®) Tpx)| 04|02 04

Options :

212807129709. 1
212807129710. 2
212807129711. 3
212807129712. 4

Question Number : 948 Question Id : 21280732428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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freqferfian d @ Siadt v aefes | wieea de 8 gHa g2

x| 1]2]3
M Tppg| -05] 05| 01

x[1]2]a[s]s
@ Tregl 01| o4 [o05]-02]02

x| 1]2]3]s
®) Tppg| 0203 ]02]02

x| o]1]2
® Tppg| 0s | 02|04

Options :

212807129709. 1
212807129710. 2
212807129711. 3
212807129712. 4

Question Number : 949 Question Id : 21280732429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The probability distribution of a discrete random variable X is given below :

x| 2]13|4]s
PX) |5/K|7/K| 9/K |[11/K

, then the value of Kis:

(1 8
(2) 16
(3) 32
(4) 48
Options :

212807129713. 1
212807129714. 2
212807129715.3
212807129716. 4

Question Number : 949 Question Id : 21280732429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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Tt aveia wrefess = X &1 witrerar s HY fem

x| 23|45
rx) | 5/K | 7/K [ 9/k [11/K

A9 K EA 8

(1) 8
2 16
(3) 32
(4) 48
Options :

212807129713. 1
212807129714. 2
212807129715. 3
212807129716. 4

Question Number : 950 Question Id : 21280732430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The mean and variance of a Binomial distribution are 4 and % respectively, then the value of
P(X=1)is:

80
O
@ %

728
B) 7

665
4) 759

Options :

212807129717. 1
212807129718. 2
212807129719. 3
212807129720. 4

Question Number : 950 Question Id : 21280732430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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fordt figur oz % v o o e 4 8 44 ¥ APz WA

80
(1) a1
2 8y

728
B) 79

665
) 79

Options :

212807129717. 1
212807129718. 2
212807129719. 3
212807129720. 4

Question Number : 951 Question Id : 21280732431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

% collegedunias

India’s largest Student Review Platform



The number of phone calls {(in thousands) are made by a telephone company for five weeks as
given below :

Week 1 2 3 4 5
No. of telephone calls| 110 | 130 | 93 | 104 | 211

Taking a period of moving averages as 3 weeks, the graph of moving averages can be depicted
directly as :

.
= aT
« et #(4, 130}
a o=l A
_g 5@ 1.1_2_)‘,,
@ | (3, 110)
z % 1 L L L L P
Weeks
" gn
& 4
£4]
a s
521 (4, 130)
= K
2 BE7T@11Y ;
EaT  “TB109)
z 81
" Weeks
1)
g &
= g 2(4,136)
T 5
(3} g é 2, 1‘11‘}- ':r
£ » J1,110) "G 110)
o = 4
Z i l 1 1 | [ '
Weeks
=]
U =T
QE + »(4,136)
(4) E E-- 2 111)
=T -
§ = (3,109)
R e o
Weeks
Options :

212807129721. 1
212807129722. 2
212807129723. 3
212807129724. 4

Question Number : 951 Question Id : 21280732431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : col |eged unia:
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Key Value

Comprehension MCQ3
Tl Sl 9t g Ui Watg o ot T Wi il o1 S (9R §) e TR €1 TR © )
Week 1 2 3 4 5

No. of telephone calls| 110 | 130 | 93 | 104 | 211
=e AR T orafy 3 HwE oF W = SiHd w1 T 51 Yelatd: g9l ST HEhar §

4:"'" i
’EE 2 112) 2(4,130)
(1) E E @ 110)
: m ——
‘E}E: -(4, 130)
Ev 211 ;
2) ’E E 1 G, 109)
i I‘H‘:T-l‘l"é ] -

9(4, 136)

(TR #)

1,110 ~@ 110)

s
o) fElem,
£

e

¥

e
Rl (4, 136)
ZE E (2,111)
) E E: @, 109)
T T I 1 T -
Options :

212807129721. 1
212807129722. 2
212807129723. 3
212807129724. 4

Question Number : 952 Question Id : 21280732432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
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Key Value
Comprehension MCQ3

Which index number is used to compare cost of living at two different cities ?
(1) Value index

(2) Volume index

(3) Weighted index

(4) <Consumer price index

Options :

212807129725. 1
212807129726. 2
212807129727. 3
212807129728. 4

Question Number : 952 Question Id : 21280732432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
@ Tl wed A @A =) gor ¥ forw A sfar gea gasis W e ?
(1) e s
(2) U YHABIH
(3) W gawis
(4) IUHTE Yeu YIHin
Options :

212807129725. 1
212807129726. 2
212807129727. 3
212807129728. 4

Question Number : 953 Question Id : 21280732433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The price relation for year 2020 with reference to year 2010 is 117. Correct interpretation of the
given information is :

(1) Prices increased by 17% in year 2010

(2) Prices increased by 17% in year 2020

(3) Prices increased by 117% in year 2010

(4) Prices increased by 117% in year 2020

Options :

212807129729. 1
212807129730. 2
212807129731. 3
212807129732. 4

Question Number : 953 Question Id : 21280732433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : ulatoy,: None .
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 - CO[T eged unila:
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

R 7Y 2010 F ey § ¥ 2020 F T g ey 117 81 € T gE 6 g gt @

(1) &9 2010 § & 17% &g 7%
(2) =i 2020F wd 17% 9§ W
(3) a4 2010 § H9d 117% &8 T8
(4) 2020 FaF 117% &g 18

Options :

212807129729. 1
212807129730. 2
212807129731. 3
212807129732. 4

Question Number : 954 Question Id : 21280732434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
Match List - I with List - IL
List - 1 List - 11
(A) t-distribution Iy sample size=30
(B) Sample mean I ¥

(C) Population mean (IIN)  degree of freedom
(D) Z-distribution (IV) n

Choose the correct answer from the options given below :

(1) (A, (B)-(ID), (C)-(III), (D)-(IV)
(2)  (A)D, (B)}-(ID), (O)-(IV), (D)-(I1I)
(3)  (A)(D), (B)-(IV), (COy(I), (DD
(4)  (A)ID, (B)-(ID), (O)-{IV), (D)-()

Options :

212807129733. 1
212807129734. 2
212807129735. 3
212807129736. 4

Question Number : 954 Question Id : 21280732434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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-1 & e 1 figera i

TE-1 Tell-11
(A) tse ()  wfees smEmM =30
(B) uferest =ren 1 x
(C) wafe [ (1) E&TT=% Jif
(D) Z-ded (V) w
2 feu u fawedi § A W I F T S
(1) (A0, (By-(D, (C)-II), (D)-(IV)
(2 (A)-0), (By-(D, (O)-IV), (D)~
(3) (A, (B)-(IV), (O)-(IM), (D)-(T)
(4)  (A)-(ID, (B)-(1D), (O-(IV), (D)-(D)
128071297342

212807129735. 3
212807129736. 4

—

Question Number : 955 Question Id : 21280732435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The least value of positive integer m for which 361 =1 mod(m) is Not True, is :
(1) m=7

(2) m=10

(3) m=11

(4) m=8
Options :

212807129737. 1
212807129738. 2
212807129739. 3
212807129740. 4

Question Number : 955 Question Id : 21280732435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

TFRERR YOI m 1 9% =AY 1, 4fX 361 = 1 Aniw(m) T e & |
(1) m=7

(2) m=10

(3) m=11

4y m=8

Options :

212807129737. 1 Qcollegeduniag
India’s largest Student Review Platform



212807129738. 2
212807129739. 3
212807129740. 4

Question Number : 956 Question Id : 21280732436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The trend line for the sales (in lakhs) is given by y, =84 +12(x —2017). The estimated sale for the
year 2024 is :

(1) % 84lakh

(2) %96 lakh

(3) ¥ 156 lakh

(4) ¥ 168 lakh
Options :

212807129741. 1
212807129742. 2
212807129743. 3
212807129744. 4

Question Number : 956 Question Id : 21280732436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
et (emell 9) ¥ Ton soafa Y 4, =84+ 12(x—2017) & % 8199 2024 ¥ fou sgnfa st §
(1) 847
(2) %96 Or
(3) 156 W@
(4) 7168 eI@
Options :
212807129741. 1

212807129742. 2
212807129743. 3
212807129744. 4

Question Number : 957 Question Id : 21280732437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
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If the objective function for an LPP is z=3x — 4y and corner points for bounded feasible region are
(5, 0) (6, 5) and (4, 10), then :

(A) maximum value of z is 2

(B) minimum value of zis 2

(C) maximum value of z is at (5, 0)
(D) no maximum value of z

(E) maximum value of z is 15

Choose the correct answer from the options given below :
(1) (B) and (C) Only
(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (C) and (E) Only
Options :
212807129745. 1
212807129746. 2

212807129747. 3
212807129748. 4

Question Number : 957 Question Id : 21280732437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

et LPP % U ¥ Wi 2=3x — 4y ® 3R wRag gawa &3 3 =i 793 (5, 0) (6,5) 3R (4, 10) £
G

(A) z @ sifrway g2 §

(B) z &l FaW qri2 ¥

(C) (5, 0) Wz iferpam Wi §

(D) % 9§ sifersmem a4 §

(B) z & siftrpan | 158

9 few o Tamedi § & W IO @ g9 e
(1) % (B) 3R (C)

(2) e (A) iR (B)

(3) e (C) 3R (D)

(4) e (C) I (B)

Options :

212807129745. 1

212807129746. 2

212807129747. 3
212807129748. 4

Question Number : 958 Question Id : 21280732438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 COI Ieged un i as
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Question Key Details :

Key Value
Comprehension MCQ3

Subodh took a loan of ¥ 10,00,000 at 14% annual interest rate for 8 years. His equated monthly
instalment under flat rate system is :

(1) % 20833.33
(2) % 22083.33

(3) ¥ 17500
(4) 23125
Options :

212807129749. 1
212807129750. 2
212807129751. 3
212807129752. 4

Question Number : 958 Question Id : 21280732438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A A € 10,00,000 H W 14% wifie oarst W W 8 9 & fony foran ) wure g fafy & wifas fava € -
(1) ¥ 20833.33
(2) ¥ 22083.33

(3) % 17500
(4) ¥ 23125
Options :

212807129749. 1
212807129750. 2
212807129751. 3
212807129752. 4

Question Number : 959 Question Id : 21280732439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

At what rate of interest will the present value of a perpetuity of ¥ 1000, payable at the end of every
quarter be ¥ 20000 :

(1) 10% per annum

(2) 20% per annum

(3) 3% per quarter

(4) 10% per quarter

Options :

212807129753. 1
212807129754.2
212807129755.3
212807129756. 4
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Question Number : 959 Question Id : 21280732439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
T ot ST/ € 1000 o1 3 vivad, St yeren faawdl 3 orw § 8% €, &1 SdwE g 20000 & Sram ?
(1)  10% ufi o

)
(2) 20% ufd ad
(3) 3% wra feret
(4) 10% wfy forard

Options :

212807129753. 1
212807129754. 2
212807129755.3
212807129756. 4

Question Number : 960 Question Id : 21280732440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

The rate of interest used to discount the bond’s cash flow is known as :
(1) yield to maturity

(2) coupon rate

(3) face value

(4) coupon value

Options :

212807129757. 1
212807129758. 2
212807129759. 3
212807129760. 4

Question Number : 960 Question Id : 21280732440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
et wifvg ¥ Tore ware § g ¥ & fera Forw s 0 Wl dren R, el |
(1) ufueeran 2 urf
(2) FHR
(3) i g
(4) e
Options :

212807129757. 1
212807129758. 2 .
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212807129759. 3
212807129760. 4

Question Number : 961 Question Id : 21280732441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Mr. Dileep Rao has set up a sinking fund so that he can accumulate ¥ 10,00,000 in 10 years for his
children’s higher education. How much amount should Dileep Rao deposit at the beginning of
each year to accumulate this amount at the end of 10 years. If the interest rate is 12% compounded
annually ? Given that (1.12)1! =3477 (Rounded off to the nearest paise)

(1) % 50000
(2) ¥ 50900
(3) ¥ 5121110
(4) ¥ 50912.18

Options :

212807129761. 1
212807129762. 2
212807129763. 3
212807129764. 4

Question Number : 961 Question Id : 21280732441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

. feefiy o 3 orod 9= &) o Toan & Forg wes vy Ffy a9 o1 Faob o orfep &g o 10 =d 4
¥ 10,00,000 1 T gapg v wdh | feotra e it vl ad % 1Ry § fpan g+ Smn e gy & 10 99
% ofa H gfeza ofe wefra @ e 3l wsmgfy ene 129 afts @1 Rw § (1121 =3477 (ufrre
T #)

(1) 50000

(2) 50900

(3) ¥51211.10

(4) ¥ 50912.18

Options :

212807129761. 1
212807129762. 2
212807129763. 3
212807129764. 4

Question Number : 962 Question Id : 21280732442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

.
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The investment in buying 525 shares of ¥ 100 each at ¥ 12 premium is :
(1) ¥ 54800

(2) ¥ 56800
(3) ¥ 58000
(4) T 58800
Options :

212807129765. 1
212807129766. 2
212807129767. 3
212807129768. 4

Question Number : 962 Question Id : 21280732442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

¢ 12 ifinge et ¥ 100 HiFd % 525 R w9 e & foru faw afn 2
(1) T 54800

(2) T 56800

(3) € 58000

(4) T 58800

Options :

212807129765. 1
212807129766. 2
212807129767. 3
212807129768. 4

Question Number : 963 Question Id : 21280732443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The point estimate for the mean number of sales of cars for the following data
103, 140, 92, 115, 110, is :

(1) 111
(2) 112
(3) 115
(4) 114
Options :

212807129769. 1
212807129770. 2
212807129771. 3
212807129772. 4

Question Number : 963 Question Id : 21280732443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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[Comprehension [MCQ3

w0 faert & forn spifaafiea iferel 103, 140, 92, 115, 110, ¥ geqar demn i favg s & -

(1 111
(2) 112
(3) 115
(4) 114
Options :

212807129769. 1
212807129770. 2
212807129771. 3
212807129772. 4

Question Number : 964 Question Id : 21280732444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

If objective function for LPP is z =5x + 7y and corner points of feasible region are (0, 0) (7, 0) (3, 4)
and (0, 2) then maximum value of z occurs at :

(A) (0,0
® @0
< (34
(D) (62
(B) (4 3)

Choose the correct answer from the options given below :
(1) (A)and (E) Only

(2) () Onl

(3) (€ and (B) Only

(4) (O, (D), (B) Only

Options :

212807129773. 1
212807129774. 2
212807129775. 3
212807129776. 4

Question Number : 964 Question Id : 21280732444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

.
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gfe fFdl LPP % foru S8 W z=5x+7y ¥ 3R & fag 0, 0) (7, 0) (3, 4) 3R (0, 2) B &l z %,
sfirpray o T feorm &1

(A) (0.0
B (70
< G4
(D) (6 2)
(E) &3)

9 o wru faspedi © 9 99 9w 999 Sifern
(1) e (A) 3 (B)

) ¥ ()

(3) et (C) 3 (B)

4) ¥ (O), (D), (B)

Options :

212807129773. 1
212807129774. 2
212807129775. 3
212807129776. 4

Question Number : 965 Question Id : 21280732445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The maximum value of z=2.5x +y subject to the constraints x+3y=<12, 3x +y=<12, x, y=0, is :
(1) 4

(2) 8.5

(3) 10.5

(4) 10
Options :

212807129777. 1
212807129778. 2
212807129779. 3
212807129780. 4

Question Number : 965 Question Id : 21280732445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Sl x+3y<12, Bx+y<12, x, y=0, ¥ FWA z=2.5x +y % ke o 3 -
(1 4
(2) 85
(3) 10.5
(4)
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Options :

212807129777. 1
212807129778. 2
212807129779. 3
212807129780. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 966 Question Id : 21280732446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

The effective rate which is equivalent to stated rate of 6% compounded semiannually is :

1) 6.09%

(2) 1.03%

(3) 4.09%

(4) 5.09%
Options :

212807129781. 1
212807129782. 2
212807129783. 3
212807129784. 4

Question Number : 966 Question Id : 21280732446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

sifid &% 6% Tgar Tdafiis ¥ aagey wurd R ¥ -

(1)  6.09%

(2) 1.03%

(3) 4.09%

(4) 5.09%
Options :

212807129781. 1
212807129782. 2
212807129783. 3
212807129784. 4

Question Number : 967 Question Id : 21280732447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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The index number of the base year is :

(1) 10
(2) 100
(3) 200
(4) 300
Options :

212807129785. 1
212807129786. 2
212807129787. 3
212807129788. 4

Question Number : 967 Question Id : 21280732447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
st oy & fora i ¥
(1) 10
2) 100
(3) 200
(4) 300
Options :

212807129785. 1
212807129786. 2
212807129787. 3
212807129788. 4

Question Number : 968 Question Id : 21280732448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Ram and Shyam are playing a game by throwing a die alternatively till one of them gets a ‘1" and
wins the game. The probabilities of winning by Ram and Shyam respectively if Ram starts first, is :

6 5
O TIET]
, 56
@ 11711
5 38
(3) 11711
g 53
4 11711

Options :

212807129789. 1
212807129790. 2
212807129791. 3

% collegedunias
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212807129792. 4

Question Number : 968 Question Id : 21280732448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

T i v Al Y 9l 6 SeTd @ § 99 de T S @ uss w1 A o1 S ofR @ ofta € afe aw
T Y H A 3t vy & e 6 wifasear s @

L, 5.5
1) 11711
n 56
2) 11711
5 3.8
(3) 11711
g &3
4 11711

Options :

212807129789. 1
212807129790. 2
212807129791. 3
212807129792. 4

Question Number : 969 Question Id : 21280732449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

The volume of a spherical balloon is increasing at the rate of 6 cm®/sec. The rate of change of its
surface area when its radius 2 cm is :

(1) 3 cm?/sec

(2) % cm?/ sec

(3) 6 cm?/sec
(4) 9 cm?/sec

Options :

212807129793. 1
21280712979%4. 2
212807129795. 3
212807129796. 4

Question Number : 969 Question Id : 21280732449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2 .
w collegeaunias
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T WefTd a1 AT 6 A0 /8. A TR 95 W71 Hh g fewe F uftada ) %y At gwan
fem2ddt g 3

(1) 3 &h/A
(2) g—“étﬁ%ﬁ.

(3) 6w HR/&.
(4) 9 qfi2/4.

Options :

212807129793. 1
212807129794. 2
212807129795. 3
212807129796. 4

Question Number : 970 Question Id : 21280732450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

In a 500 m race, the ratio of speeds of two participants A and B is 4 : 5 respectively. If A has a start
of 180 m, then the distance by which A wins is :

(1) 30m
(2) 140 m
(3) 120 m
(4) 100 m
Options :

212807129797. 1
212807129798. 2
212807129799. 3
212807129800. 4

Question Number : 970 Question Id : 21280732450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Comp2

500 T2 F e g H, & g9rit A iR B el o oW wHe: 4:5%1 AR A 180 dX fag A s g
e & @ A fpet gf & sfeem §72

(1) 50 Hrex

(2) 140 HieX

(3) 120 HiE

(4) 100 Hiex
Options :

212807129797. 1

212807129798. 2 .
212807129799. 3 - collegedumas
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212807129800. 4

Political Science

Group Number : 25

Group Id : 212807749
Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Political Science

Section Id : 212807883
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072544
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 971 Question Id : 21280732501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many percent of the eligible voters of the first general election held from October 1951 to
February 1952, were literate ?

(1) 100%
(2) 15%
(3) 25%
(4) 50%
Options :

212807130001. 1
212807130002. 2
212807130003. 3
212807130004. 4

Question Number : 971 Question Id : 21280732501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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